[N of associated tracks (simToReco) vs hit ]
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N of simulated tracks vs hit

3 Qo o0 o o
3 = [
E o < N Q > > =
E — o ~ 8 k| K]
i o M N I 0
E — o X ™
E ~ 39 — Q — o
E| — R o 5 =
E % E = ES
] © — 3 3
E — 3 o ©
3 < 2 g
3 a
3 ﬁ 2 2 [e)
E| < 2 5
E < — 3 & <
3 -~ N s m
3 3 5 3 ™
E =1 s 2
3 N | § o
E 3 g g
E o ce] = =
E — 2 =
E - E © s g A
E < g g
E o © 3
5 & o 8 g <)
> > 3 » i >
3 5 <8 S 5 5 2
i — —
gl
X
o |.&33 © o
< 2B ol < 2 . &2 a4
CESYT N Q : g g
o ORSSS - P R R LEETEY TETEEFP - PEPPD s ~ 3 o F
FEa33 INE . = <
(3] E.m. N H D [a)]
2! . Q o
25 o [ o X ™
o o N . o a
S = o M : o ~
[ — 2] I e R REREE o ]
n |=czs: B 5 ©
o~ pEE © = 2
ok — ko] e = "
w X
o mmw < a 2
N Bgg g e i 2 <
i N o 0
= 4
ﬁ o 2 o~ S )
afatatatatal — = =
3 - o o~
e Hi © S E )
. < =
i E © £ ° E i i
-r _..W.D c_\lv :_m L .W 1l TR 30::... 1 TITRY _.0
S M ) M S M = 3 S
sa|oiuedbupioel oney L sspoiuedbunioel ) oney LJ sajnuedbunioel) oney L sajonreqbunoel) oney




	Contents
	Page 1


